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Chel: HZ3t AXF o (EEREED
S B BAGEH) - MRAY - B2 04l &b ot plE-E HlE2
MBS A 5,872,121 5,887,818 A15,697
= 115,964 115,964 0
[ 14,000 14,000 0
Al 5,742,157 5,757,854 A15,697
U2 JIBtxA 98,250 95,250 3,000
NS5 AR oA 9,350 89,350 3,000
HE AQHE M3 1S 65,600 62,600 3,000
405 KHabs S| 3,000 0 3,000
01 HALSZHSY| 3,000 0 3,000
OFADST W ety el 3,000,000 3,000 0 3,000
MY NP3 A2 5,600,567 5,613,528 A12,961
= 115,964 115,964 0
[ 14,000 14,000 0
Al 5,470,603 5,483,564 A12,961
N5 2 WAAY =7 2,719,445 2,722,184 A2,739
= 115,964 115,964 0
[ 14,000 14,000 0
Al 2,589,481 2,592,220 22,739
NESAAAY HSHA 519,087 521,056 A1,969
401 AlEHI 2204 17,567 19,536 A1,969
01 Al&HI 17,567 19,536 A1,969
Oolgtel AR HiE 2] LA 17,567,0002 17,567 19,536 A 1,969
HEEA AIRF A 17,180 17,950 ATT0
405 KHabs S| 14,300 15,070 ATT0
01 HAtLSZHSY)| 14,300 15,070 AT70
OXBEA AI2E A ZH| Y 14,300 15,070 AT70
—CIXE AlSEMI| (Rees)
7,590,0002 7,590 8,360 ATT0
HMEEA AAE X 22 2,403,980 2,404,380 2400
HBAIAE 29 2 2122 749,881 750,281 A400
203 HPREXH| 3,600 4,000 A400
03 AlHERAREAIY| 3,600 4,000 A400
O™B5t AIMER 4,000,0002 *90% 3,600 4,000 A400
HEES 23} 477 142 486,964 A9,822
NP LEOIAY| ¢O0IE L XSS 44,242 54,064 A9,822
201 LBr29H 44,242 54,064 9,822
01 Al222H| 44,242 54,064 9,822
ONEESAIAH SXE4H| 36,847 46,669 A9,822
— S8IPCE o 0 0 9,822 A9,822
HYSAZH(HEESAD) 65,926 75,040 N9, 114
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ol 2uy| 3,780 4,200 420
=Nl 3,780 4,200 420
203 ARFXH| 3,780 4,200 420
04 EN2IAREZIH| 3,780 4,200 2420
ORN2Y JRFH| 350,0002 * 122 x90% 3,780 4,200 2420
J|= &bl 62,146 70,840 N\8,694
UBL2AY| 28,234 31,960 N3,726
201 LEr2YY| 28,234 31,960 N3,726
01 At222lH| 28,234 31,960 N3,726
ORAN2ZI =22 25,434 29, 160 N3,726
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((50,0002 26 =102 )+(50, 0002 #27 H 22 14,130 16,200 22,070
))*90%
— =2 &H|
((40,0002 26 102 )+(40,000 27 H 22 11,304 12,960 1,656
) )%90%
Ol 33,912 38,880 4,968
202 OdH| 33,912 38,880 4,968
01 2oyl 33,912 38,880 4,968
OYREXI 20|
((120,000R x26H *10& )+( 120, 000 x27 2 x2& 33,912 38,880 4,968
) )%90%
Hess (2SS4l 3,378 0 3,378
[SPSONES 3,378 0 3,378
BHEt 2| E} 3,378 0 3,378
802 BtEt=20|Et 3,378 0 3,378
02 Al - SHIEXZ2ga= 3,378 0 3,378
OO0l ZBALOIEI OHESHALS AHoH
3,377,440 3,378 0 3,378




